o~ ASSEMBLY INSTRUCTION
HOLLAND HOUSE Instructions d'assemblage

ITEM NO./ NO. ARTICLE: 1244-311-S
SLAT BACK DINING CHAIR
/ CHAISE DE SALLE A MANGER A DOSSIER A LATTES

WARNING: To avoid alighnment issue, please don't tighten the screws unless all legs are adjusted at the same level.
Attention: pour éviter tout probléme d'alignement, ne pas serrer les vis @ moins que toutes les jambes ne soient réglées au méme niveau

HARDWARE LIST/ LISTE DE QUINCAILLERIE
Hex-Nut ¢5/16"

4pos
—1 4 pieces

N
7
AN

Ecrou hexagonal ¢$5/16"

Short Bolt $1/4" x38 mm

Boulon ¢1/4" x38 mm

Long Bolt ¢$1/4" x85 mm

4 pcs
3 —) | 0T

Boulon ¢1/4" x85 mm

ring Washer 16" x12 mm .
Sp g VWashe ¢5/ 6 ASSEMBLY COMPLETED / ASSEMBLAGE TERMINE

3 pcs
2 ﬂ) 3 pieces

11 pcs
4 "Rondelle de ressort &) 11 pigces - -
$5/16" x12 mm PART LIST/LISTE DE PIECES QTY'/ QTE
Flat Washer $5/16" x19 mm 1 ocs CHAIR BACK BT | e
5 @ 11 pieces A 3= 1 PIECE
Rondelle plate $5/16" x19 mm DOSSIER DE CHAISE || BV———=
Allen Key 58 x 23 x4 mm 1 pe WOODEN SEAT 1PC
6 _j 1 piece B - 1 PIECE
Clé Allen 58 x 23 x 4 mm SIEGE EN BOIS
FRONT LEG
. Wrench 12 x 75 mm 1 pc C (LEFT - RIGHT) \'-‘1—’/’ 2 PC‘S
CIé 12 % 75 mm 5 ) | 1 piece PIEDS AVANT i‘;—_—— 2 PIECES
(GAUCHE - DROIT)
SIDE STRETCHER
o Screw $8 x 50 mm 4 pos 5 (LEFT - RIGHT) % 2 PCS
) G| 4 pieces BARREAU % 2 PIECES
Vis $8 x50 mm (GAUCHE - DROIT)
STEP 1 TOOLS REQUIRED (NOT PROVIDED)
ETAPE 1 OUTILS NECESSAIRES (NON FOURNIS)

. —
Phillips Screwdriver / Tournevis cruciforme

Left - Gauche

v

P.1/2




ETAPE 3

FABRIQUE AU VIETNAM

P. 2/2




	272482 AI ( HOH-BR  39 ) Model (1)
	272482 AI ( HOH-BR  39 ) Model (2)

